Student’s code (e.g. RUS 1) Problem number (e.g. M) Page number/Total (e.g. 5/8)

Experiment w |8

@' In-;e(,-ﬂewu\,e_e_

Seturp:

W\ fDla"" teV

Q‘no-{:OO‘}OJQ

vevtt

AT
laser

ﬂ'/‘_,_,l

r "O'ﬁﬁtih
(ramswss 4 ok oy
PiQ. .
S\nﬂ._?f"(}§
PL\CH-OA\'OM /
\
\
Pa(&’thEz to avoid hon-/a\g@,, {,‘8kt.
pic.2

e conlA see, bo- W”mgu‘““?’f“'

Treomecd P warbrone o0y Slo,s0 1
’V'ert&/k ! (:
A perosimote Aef@hd% deg). (¥ from

g Loeh

AV

£ go

Pi&.&)




Student’s code (e.g. RUS 1) Problem number (e.g. M)

[@IY[s] [ Experiment

Page number/Total (e.g. 5/8)

T 1

Mz b i o




Student’s code (e.g. RUS 1) Problem number (e.g. ) Page number/Total (e.g. 5/8)

Experiment A

, + us cownt o Ut of ,,QG"’,“'S“ Sl ot * é;gw.é {'é, 4N
£

<
A e e
Ahs = KN&]%’O)\ ) L)((?- ‘::Eh‘"z" - gh"‘o> 2 )/

\tl/

@
= e ara )|
3 [((ﬂbm T Th

Yo

o

[ 3$2aT

Ch> =z 123 MM



Student’s code (e.g. RUS 1) Problem number (e.g. V)

Experiment

Page number/Total (e.g. 5/8)

> /s

t@aﬂ we'l qerdepadacty h fro~zn.
Sin fra= 2% sy

- Z.
| ‘oSt ("z Siat (5, costPr (M, v8n) 4 Sivtp, mg R
—, = i o
" °
lAt'JfL 2 Noan Cog (51 V\oz (l + 2.4h Ccsz'%‘g >
= i i N -

-_—

n - (h°+An—,)’~

RS
» T, AV
ht 2 (Mo +ah) (1 - 2 o Los’~(5,_>

NE—~ 20 am cos”*(a Y2V By = 2

Nt (mgsan )t

)]

)

T ;
e + 2Woasl, le"(),\: v,o’k(l Fo &0 S >

by

z-"l" (H— — St fS,_> = h, +AN g‘,\,’\-(&,\ >

- °

4 S\ oz gk, + OCen)

SN
= \n°- DLW L
\r'n.,"~

SRS |




Student’s code (e.g. RUS 1) Problem number (e.g. ) Page number/Total (e.g. 5/8)

Experiment s /9
B
3»‘)(P) Sin(
s Pu-osp, =g, (B - ) = shp = 5
Cos( 1)
«7&5‘4,, s‘.hw <-‘_. 5 &
h m
M
2%?’1 3;\“(. (bh S:L: = &Ah&:
'S Vie l-osﬁv (S
R ISTERRT: .-
\"os 505",'

\
gz\m Ll B, (h.*h:.> + L 12 (COSP:*“SV’L):

st ™nu
&\co_\,f, An s: L?-l]qh = k( b“/dos@:)r-

SNt N ;
. \'\ Q“’SF). —:l—;q, S Vo p> ot Bi= s~ (@

o \1,

olava 2e with ;
Pv\s °plt g afprlanicer ™M




Student’s code (e.g. RUS 1) Problem number (e.g. M) Page number/Total (e.g. 5/8)

NN Experiment a. . .4%

-p'upsf ~D K [y (1 main) A+

€=9535°
- SiNe
S P} =
A e
ey = - -
by <co>p, %'\11‘? +sm:to AVAS
“o ho oy, 0
= 9.0 5y
—

C>6. )12




